[£9]2] LINC3.0 A e o] sat=Z

=
w__ulnf.rﬂ =k : m_m_ﬂ
| = _ll__ll_ﬂm_ulrnrﬂnr 1 1 | —_
u_lh..h.__.._o.r.r...|_|._$ 7] 1] o L FIH - ] ol
|3 | 3T w:o:o_._AL_.._o_.o...H.:ojn_f.rju.mn._ko_‘._. | =7 2 P R OO B il B = = o
f;omoooe_aiJE:ié&mOngfﬁ?oE e I ki AT oy o % i
mm_gam_.m moﬂmoﬁJOWHO%JEEZO%HET.mzoswﬂzoﬂ%Hﬁms:maﬁwlﬂﬂmmaﬁmﬂmﬂﬂﬂﬂ R T
RO\ 2 == i (W0 T | < ~ = |0 |2 o | K |G| || S 00| Ho| @ = oring || = |5 1oL | 35| a7 L | T | aor | or 35 1Mo
== o |<0 =0 70T |1 | =o|5E == oo & © hhai | fol = =|r|n| 40T 4ol | Jol" 10 =
< _A%uﬂngmnﬁﬁu_mﬁﬂxxw_{%mxW_#m_umm%2Emoﬁmo%ﬂnufmmozlouom.mzozoms <= 2
ol _._._O RIS e hl| J:._Oﬂ_._._o_|l_|1_u_m_.A_._._._ §7OE.AO HA.rOO_lﬂﬂlmm_AJll_Fﬂ.:.O o = ﬂ
< " RO|Mo e (2| ™| R =" |o|5o[ & rin| X0 = |~ 20| 50 S| S|
: R o T
4 T a2 E
= K jor
K& =
~N
(]
N
.+ P
T |for
=) BORIgT o
0|20 2HT il —Br | =
R = e | < oH
o T




